Pipe ci’
hanging kit

zeh“b Rittling

Kit includes RH units with explosion proof RH units

W (2) 3/4" - 1/4" reducer, steel motors

W (2) 3/8°-16 x 2-1/4" cap screw, 3/8"-16 x 2-1/4" cap screw 3/8"16 x 1"
oxide coated steel (4 places) Z;Zaglzg;es\;v

3/4"-1/4" reducer
3/4" NPT pipe (4 places)
(by others)

(2 places) \

Reducer

3/4"-1/4"
reducer
(2 places)
A
4

&

RV units

Unit

Installed view

1/2"-13 x 1-3/4"

Cap screw
(4 places)

3/4"-3/8"
3/8" washer reducer

(4 places) (4 places)

3/8"-16 center lock nut
(8 places)

Zehnder Rittling - 100 Rittling Blvd. - Buffalo, NY USA 14220

T 716-827-6510 - F 716-218-2805 - sales@zehnder-rittling.com - www.zehnder-rittling.com
© Zehnder Rittling February 2014, English, subject to change without notice


mailto:sales@zehnder-rittling.com
http://www.zehnder-rittling.com

